DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

DIVISION

Name:

Time:

Score:

511)

512)

513)

514)

515)

516)

517)

518)

519)

520)

521)

522)

523)

524)

525)

159.6 < 0.1 =
241.24 = (—0.4) =
—16462 = (—2) =
64.77 = (—3) =
—1.95 + (—0.03) =
—1.3258 + 0.07 =
238.49 = 0.7 =
—452.75+ 0.5 =
—92800 = (—10) =
5677.2 = (—6) =
—581.36 + (—0.08) =
—52.182 + (—0.09) =
—11.35 + 0.05 =
—62180 = 10 =

—431.41 =7 =
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526)

527)

528)

529)

530)

531)

532)

533)

534)

535)

536)

537)

538)

539)

540)

—73.6+0.1 =
~113.12 = (—8) =
—3.7388 + (—0.04) =
33.48 + 0.9 =

—5.067 + 0.3 =
—57.736 + (—0.07) =
0507 =+ 1 =

171+ (—0.3) =
16920 + 5 =

2516.4 = 4 =
—20.069 + 0.07 =
8.8956 -+ 0.09 =
265.56 < (—3) =
38.418 + 0.06 =

8184 +8 =
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